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Bronfman’s argument: Conditionalization can go wrong when KK failures obtain.
Note: does not assume KK! This is a conditional claim. Some Guiding Questions:

1. How should we think about “exogenous” evidence?
2. What is externalism about knowledge and evidence?
3. What is conditionalization and why should we conditionalize?

2 | Basic FRAMEWORK

The framework: “(i) an initial set of beliefs, represented as a credence function, (ii)
new evidence, and (iii) an update rule, represented as a mapping from an initial cre-
dence function and new evidence to a new credence function.”

(Pota, E) = Prew (The Framework)

E is exogenous evidence: it “comes to the agent from outside her update rule” - e.g.
through sense perception rather than through inference on.

A standard update method is conditionalization:

Pold(p&E)

Pnew(p) = Pold(p | E) =def P ld(E)

(Conditionalization)

The idea of conditionalization is that you ignore all the —F possibilities, and you don’t
assume anything more fine-grained than that an E possibility obtains.

Left: Pyiy’s opinions on the possibilities Pyq(grey) = 7/12.

Right: P.. "’ .. I ino E: P Pyia(grey & E) 5/12 5/6
ight: P,..,’s opinions after learning E: Py, (grey) = = =5/6.
Py (E 6/12
old
1 V27272727272727272722722272727277
(45555255552525555%%
1 777777777777 777
' $5505555550000000557
SRR AR an
| ¥5555555550000000555
AR AR A
| V3050000525522525257
' (45555355553555555%0
e
3 105053002525000002%7
A
| 15505555000000000000
b2000000000000000007
1 V72772772772727227227227227277
1 100055500000000
1000055000002000000
1 AR A
00000000000000000007
1 V272727277222727227272727227277
h000000000500000000
| Py
\ $555555555555555505%
05000055555050000007
| A A
00000005555550000007
I V272772727272722727272727272272727
052055052252255000%0
| 2727277777727 727727777
| 00000005555550000000
E -FE E -E

Iteration Principles (Principles of Self Knowledge): with (“at t” removed)

« KK If S knows that p, then S is in a position to know that she knows that p.
« KB If S knows that p, then S is in a position to know that she believes that p.
« LB If S learns that p, then S is in a position to know that she believes that p.

Similar to KK: EE If p is part of S’s evidence, then “p is part of S’s evidence” is part
of S’s evidence. LL If S learns that p, then S learns that she learns that p. Often
externalism can be characterized as a denial of an iteration principle like this.
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| FAILURES OF SELF-KNOWLEDGE

Cases: (1) Carl knows (and thus believes) his first teacher’s name, but he isn’t in a
position to know that he knows it or in a position to know that he believes it (failure
of KK & KB). (2) Eve learns (and thus knows and believes) her colleague is angry, but
isn’t in a position to know that she knows or believes it (failures of KK, KB, & LB).
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| LotTERIES WiTH AND WiTHOUT KK

Lottery with KK. Conditionalization given KK delivers a 1/3 credence in A regardless of
what the conditionalizer learns.
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Lottery without KK. Conditionalization given —=KK delivers a 1/2 credence in A regard-
less of what the conditionalizer learns.
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| Prima FaciE [RRATIONALITIES

1. The conditionalizer expects her future self to be less accurate: she starts off

knowing she has a 1/100 chance, but she knows that she will end up think-
ing she has a 1/2 chance. “This experience would, she thinks, lead her to have
credence 1/2 in a proposition which is almost certainly false.”

. “The conditionalizer plans to set her credences in a way that divergences from

her known long-run win frequency.” If we calculate her expected number of
wins over n trials based on the setup, it is n/100. But if we calculated her Pnew
expectations, she calculates an expected number of n/2 wins: far too confident.

. “The conditionalizer fails to defer to a future self of hers whom she regards as

being in an excellent epistemic position.” If the conditionalizer knows she will
later learn what she learned, and satisfy KK, she should defer to her future self.
But the conditionalizer now knows that the future self in question would have
credence 1/3, and she now has credence 1/2. So she does not defer.
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